Additional examples:

Miss Tan is a 45 year old in 2029, is opted in and is working as a private hire car driver.
Her CPF contributions will be:

Gross earnings: $5,000

FEDR: 60%

Net earnings: $5,000 * (1-0.6) = $2,000

Total CPF contributions: 37% * $2,000 = $740"

"Consists of platform operator share of $340 and platform worker share of $400.

Mr Abdulis 45 years old in 2029 and is a non-opt-in delivery worker using a van. His
contributions will be:

Gross earnings: $5,000

FEDR: 60%

Net earnings: $5,000 * (1-0.6) = $2,000

Total CPF contributions: 9% * $2,000 = $1802

2Consist solely of platform worker share; no platform operator share of contributions.




